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21. An object moving with uniform acceleration has a
veloaty. of 12.0 cm /s in the positive x direction when its 2 e
x coordinate is 3.00 cm. If its x coordinate 2.00 s later is 1
-5.00 cm, what is the magnitude of its acceleration? 0Tt T teteti
leiaiotof2ia 1618

(acceleration is to the left)

™ _1__a® _

69. An in wisit .
Overhangsg C‘:ig‘ve gol‘iys;cs student and mountain climber climbs a 50.0-m clifs
apart, ang ObServefthatothwater' He .throws two stones vertically downwarq, 1 .°
of 2100 5/4! (S ey cause a single splash. The first stone has an initiai S«O
water? (b) What 3 w long aftti:r release of the first stone do the two stones
it T initial .veloaty must the second stone have if they are -
usly? (c) What is the speed of each stone at the instant the two hit the ‘LO hit
ater

61. A hawk iS ﬂ <

T :x(m)

speed of the hawk (b
descent? (c F ! ) What angle d SSUmmg no air r recapty
(©) For how long did g e 1 hawk make with the sy 1 e diving
enjoy” free fall? rzontal durin
g its



ig%leNrfaac}z)ZSSII;J& gatri weigh’f is 320 N, and the chair weighs

considered as %Para:-s;;g Irtlilagrilms for Pat and the Cl'?air
: _ S, and another dj

and the chair considered as one system. e(;;lgﬁzvmt}flzi ltjl'éult

e

acceleration of the system is
; u S :
(c) Find the force Pat exerts on g‘:i;c:xiind find its magnitude.

Solution

71. A model airplane of m
hc'i&lrizontal ctrcld e at the end o?s : gdz)s-om]t:%nftlig? 2
. wi

wi :,ilf in)teem a;fe 35.0 m/s. Compute the tension in t;eé
wire S a constant angle of 20.0° with
horizontal. The forces exerted on the aj ‘lanm e
pulldof t]:}e .control wire, its own rf:rei fi‘n'?re thg
aer0_ ynamic lift, which acts at 20.0° inwardg{-r ' a:lll
vertical as shown in Figure P6.71. - o

Solution The plane’s :
: acceleration i
center of the circle of motion, so it is horiszotr(:t‘:lard e

set into motion up an inclined

d of 8.00m/s (Fig. P8.33). The
ling 3.00m along the

33. A 5.00-kg block is
plane with an initial spee
block comes to rest after trave
plane, which is inclined at an angle of 30.0° to the
horizontal. For this motion determine (a) the change in
the block’s kinetic energy, (b) the change in the potential
energy of the block-Earth system, (c) the friction force
exerted on the block (assumed to be constant).

(d) What is the coefficient of kinetic friction?

Figure P6.71




Golution FiISt. find the initia] velocity of the block
using conservation of energy during Sortpress ck,
Walanring. Assume that tha L1 . - sion of

71. Two blocks, as shown in Figure P10.71, are
connected by a string of negligible mass passing
over a pulley of radius 0.250 m and moment
of inertia I. The block on the frictionless incline
is moving up with a constant acceleration of
2.00 m/s (a) Determine T; and T, the tensions
in the two parts of the string. (b) Find the
moment of inertia of the pulley.

Solution

49. A PUck of magq m s

through a small hoje in 5 Attacheg t

(Fig- P11.49). '.I'he puck is i ct E
a circle of radius 7, ihe & tally, Orbit’in
pelow, decreasing tha l'adiuor

the speed of the pyck When,

tension in the cord as 5 f"'-mCtion
of

W is done in moving 4, fro

m p,
depends on r.) (d) Obtain I:. to 77
and W when r=0.10g o mhumeriCal
vi=1050 m/sn 4 -“50-0

Solution






